Appendix IX
An illustration of the relationships between log-price ratio and optimal token share
The generalized kinked specification (equation 3)
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Relation between xl/(xl+><3) and Iog(p1/p3) in the RDU: (gamma,delta)= (0.05, 0)
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Relation between xl/(><1+><3) and Iog(p1/p3) in the RDU: (gamma,delta)= (0.2, 0)
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Relation between x1/(><1+><2) and Iog(pl/pz) in the RDU: (gamma,delta)= (0.05, 0)
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Relation between x1/(><1+><2) and Iog(pl/pz) in the RDU: (gamma,delta)= (0.2, 0)
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Relation between xll(x1+x3) and Iog(p1/p3) in the RDU: (gamma, delta)= (0.05, 0.05)
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Relation between x,/(x; +X,) and log(p,/p,) in the RDU: (gamma,delta)= (0.05, 0.05)
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Relation between x,/(x,+X,) and log(p,/p,) in the RDU: (gamma,delta)= (0.1, 0.1)
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Relation between xll(xl+>%) and k)g(pllps) in the RDU: (gamma,delta)= (0, -0.05)
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Relation between xll(xl+x3) and Iog(pllps) in the RDU: (gamma, delta)= (0, -0.2)
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Relation between xll(xl+x2) and Iog(pllpz) in the RDU: (gamma, delta)= (0, -0.05)
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Relation between xll(xl+x2) and Iog(pllpz) in the RDU: (gamma, delta)= (0, -0.2)
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Relation between xll(xl+x3) and Iog(pllps) in the RDU: (gamma, delta)= (-0.05, 0)
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Relation between xll(xl+x3) and Iog(pllps) in the RDU: (gamma, delta)= (-0.2, 0)
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Relation between xll(xl+x2) and Iog(pllpz) in the RDU: (gamma, delta)= (-0.05, 0)
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Relation between xll(xl+x2) and Iog(pllpz) in the RDU: (gamma, delta)= (-0.2, 0)
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Relation between xll(xl+>%) and k)g(pllps) in the RDU: (gamma,delta)= (-0.1, -0.1)
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Relation between xl/(x1+x2) and Iog(pllpz) in the RDU: (gamma,delta)= (-0.05, -0.05)
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k)g(pllpz) in the RDU: (gamma,delta)= (-0.1, -0.1)
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